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2023 20{AF UBHS|H RAH
FAN 2AE
M 2A0 AL (LD TN/ UBIAE)
el FAH2C (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
240 952,336 791,944 160,392
S0 AL (LD B/ ULEH) 767,515 604,613 162,902
SRR 263,915 226,913 37,002
A2 13,900 22,700 8,800
201 L2 A 13,900 8,400 5,500
02 2229H| 13,900 8,400 5,500
Odue)| 2 &H| |XIE4H|
200,000 %7 CH 1,400
OAe Rl 1,500,0002 % 14! 1,500
OYREXE(SW) KKl
2,000,000 % 1CH 2,000
OAMSXIEH(ZE) KX
2,000,000 1CH 2,000
OYEEH=2X R R
1,000,000+ 1CH 1,000
OFAL ZZ22| L AL HMA
6,000,0002 % 14! 6,000
EREEEE 11,683 1,080 10,603
101 Q124H] 6,877 0 6,877
M IIIR22ISES 6,877 0 6,877
OdtAHYS 212 76,9602 %12 %80 6,157
OstHge 22Xt AHEE2
720,000 %14l 720
206 XHEH] 4,126 400 3,726
01 XHZHl 4,126 400 3,726
OsldEHIg HcR 1Y
5,000 5543 100
OMEE 218 =M 2
5,000 x5 128 300
OBt KRR 3,726
—Flgs 1,9202%300L 576
—SHAHH| 3,50081%900L 3.150
307 2I2+0|& 680 680 0
01 22 R2H| 680 680 0
O#HZL! 3| 15,000 %1% x 122 180
O ALZ R ZeY| 500,000 %132 500
2Hots QAL 63,360 62,400 960
201 L2 A 63,360 62,400 %0
02 2Z29H| 63,360 62,400 960
OLets Mle= 6,000 +660=+ 122 47,520
O=Zots ==clbl 60,0002 *660=+40/ 100 15,840
S 20CTVS X 22 3,600 3,600
201 L2 3,600 3,600 0
02 2Z29H| 3,600 3,600
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O0r2 Z&He o0V |2
50,0002 457§ A*40/100 900
Onte g8a ooV M3
5,000 #4500 A* 1202 2,700
2ESAGIAY 35,256 12,949 22,307
101 Q124H 25,860 6,596 19,264
M IIHR2E2EES 25,860 6,596 19,264
OZ2H ZH|D| e12
76,9602 42 x82*33] 7,389
ORAA & 22X = SPHY| o2
76,9604 x5 +52+33] 5772
OZ2 =M 2 ZAHX 2| 218
76,9602 *5H*52U+33 5,772
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76,9602 %3 * 10233 6,927
201 L2 HH 4,700 4,140 560
01 AF22t2IHI 2,000 1,500 500
OZ2 =4 S FHIUR
250,0002 * 1CH+23] 500
O0|SAILEEIEA L HFIADEEIHA RNES
50,0002 %1074 A#23] 1,000
OO0lIFJl & &H| £=2IH
100,000 *5CH*13] 500
02 2Z29H| 2,700 2,640 60
ool 2 diiel 25 A 2,700
—&J1ea 100, 00024 x2IH Ax 122 2,400
—aERa 25,0001 A 122 300
206 XHEH| 4,6% 2,213 2,483
01 X2l 4,6% 2,213 2,483
OZ2 L XAX =4 - &2 620
—HE5 YN 2H P
20,0002 +3Z+53] 300
—€lH] 2 HIg 7
5,000 %20 E <23 200
—Zz 7 Y 20,000&1%35*23] 120
O=Xl, L=, AF, 22| XTI+ 22 500
—HE YN 2H P
20,0002*35+53 300
—Hlg ¢ 5,000 20 E <23 200
OSade= 212 2 25 S 7Y
20,0002 %1502 3,000
OuFIIZ2 &5 +4 1,92021%300 £ 576
SA0 =0ITKAH 2 13,920 9,380 4,540
201 L2 A 11,940 9,380 2,560
01 AF222IHI 3,240 1,680 1,560
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02 2229 8,700 7,700 1,000
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S 600,000 % 122 7,200
OAIEEH| X2 1,500,000 14! 1,500
405 XHAHE SH 1,980 0 1,980
01 XA SEF SH 1,980 1,980
oY 2401013 4410
660, 0002 *2A! 1,320
OCD/USB Z21010 660,0002 % 1A! 660
E D IBIERE 122,196 114,804 7,392
204 Z2LAH| 2,400 2,400 0
03 EXHYRAHI 2,400 2,400 0
ONSREY32A 100,000 %23 x 122 2,400
301 L2 119,79 112,404 7,392
07 S& - 01 - BHESSEAZ 113,460 106,860 6,600
OO0l &% 102,960
—J|l=4g 300,0002%x22% 122 79,200
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11 BALAHIXIS 6,336 5,544 792
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8,0002*662* 128 6,336
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250,0002/*92m 23,000
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140, 0002 *150m 21,000
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—AaFee| =2 EXISA
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230,000 *100m 23,000
—=222| B2 EXISAt
150, 0002 *140m 21,000
—E¢12l =2 ¥ =2 EXISAt
230,000 *100m 23,000
—222e| == &AXI3At
110, 0002 *200m 22,000
—=2 =2 EXISA
150, 0002 *140m 21,000
—&tA&1e| B2 EXISAt
150, 0002 *140m 21,000
—afsd2e| B2 EXISAt
150, 0002 *140m 21,000
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250,000 *90m 22,500
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—212] S2EHIA
200,000 *115m 23,000
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101 2124d| 72,123 70,969 1,154
01 2= 72,123 70,969 1,154
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201 LBr= 9] 47.618 42,782 7,836
01 AFRZ2l] 34,394 32.918 1,476
O=AER ¢ 3,840
—M EALEX] 20,0002+ 168 A 122 3,840
OS20HAH| 8,000 x4 Alx 16L* 122 6,144
Otz 100,0002* 122 1,200
OARR TARYH| 50,0002+122 600
OARD 24H| 7,220
—=ZADI(AE) 22l 500,000+ 1CH 500
—TRIE 22 100,000 *4CH*50/ 100 200
—=2AD| EY 200,000 %55 *1CH 1,000
—ZRIHJ|(BY) €4
200,00024 53| *4CH 4,000
—ZRIED|(ZY) EUY
200,00024*33]*1CH 600
—PC %2 100, 0002 * 16CH*20/100 320
—DIEt 22| 50,0002 122 600
OJIEH AR2t21H] 5,00024*16%* 122 960
Ogasg 14,430
—=Z g 30,00021% 159249 7,470
— L ae 60,00021%159x116 6,960
02 Z229| 13,224 9,864 3,360
OB 200,0002* 122 2,400
O SEIE =1 10,0002 * 122 120
OL PSEIE =1 7,00024 %122 84
OFAL B2 800,00084% 12 9,600
OFI| HEEY 242 150,000 %23 300
Ol E==r= 60,00021% 122 720
502 010 51,840 51,840 0
ENRE] 51,840 51,840
ORI 20,00091% 162122 » 122 46,080
Oel0dH| 90,0002 * 1624 5,760
203 2= | 10,840 10,840
NPEEEEEERT 6,600 6.600 0
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6,600,000 %1% 6,600
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OFIMAREAIY 40,0002+ 16 640
04 PASAAREAIY| 3,600 3,600 0
ORNSIAREEIY| 300,00084% 122 3,600
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